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 : (1) -I       . 
   (2) -I     . 
   (3) -II -5  . 
 

-I 
1. (A)     ?      . 10 
 (B)    .     . 10 
 
2. (A)     ?    . 10 
 (B)  (SWOT)     . 10 
 
3. (A)  (BCG)   . 10  
 (B)   -   .  10 
 
4. (A) “ ”   . 10 
 (B) “ ”   .                                             10 
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-II 
5.      ( ) 10 
 (1)         ? 
  (A) 1969  (B) 1975  
  (C) 1980  (D) 1985 
 (2)        ? 
  (A)  (B)    
  (C)   (D)   
 (3)      ? 
  (A)   (B)    
  (C)   (D)     
 (4)       ? 
  (A)   (B)   
  (C)   (D)     
 (5)         ? 
  (A)    (B)    
  (C)   (D)  
 (6)         ?  
  (A) 2  (B) 3  
  (C) 4  (D) 5 
 (7)   9-   ?  
  (A) ..  (B) ..  
  (C)   (D) SPACE  
 (8)       ? 
  (A)   
  (B)   
  (C)      
  (D)   
 (9)      ? 
  (A)    (B)   
  (C)   (D)   
 (10)         ? 
  (A)     . 
  (B)     . 
  (C)    . 
  (D)  -     . 

_____________  
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Instructions : (1) All questions in Section – I carry equal marks. 
    (2) Attempt any TWO questions in Section – I. 
    (3) Question No.-5 in Section – II is COMPULSORY. 
 

Section – I 
1. (A) What is the Mission of the company ? Explain the various characteristics of 

showing mission statement. 10 
 (B) Define Strategic Management. Explain the process of Strategic Management in 

detail. 10 
 
2. (A) What is Business Environment ? Explain the characteristics of Business 

Environment. 10 
 (B) Explain the utility and limitations of SWOT Analysis. 10 
 
3. (A) Explain BCG Matrix model. 10  
 (B) Explain different subjective factors in strategic choice.                 10 
 
4. (A) Write note on “Functional Organisation”. 10 
 (B) Write note on “Matrix Organisation”.                                             10 
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Section – II 
5. Choose the correct answer : (Any Five) 10 
 (1) In which year was the concept of Value Chain Analysis introduced ?  
  (A) 1969  (B) 1975  
  (C) 1980  (D) 1985 
 (2) Which is not an environmental barrier to the implementation of the strategy ? 
  (A) Politics (B) Scarcity of natural resources 
  (C) Organisational values (D) Social attitudes 
 (3) Which of the following is not a political event ? 
  (A) Stability of Government (B) Demographic structure 
  (C) Taxation policies (D) Blending of regulation and incentives 
 (4) Which of the following is not a technique of organizational appraisal ? 
  (A) SPACE Model (B) Ansoff Model 
  (C) BCG Model (D) Capital Asset Pricing Model 
 (5) Corporate level strategy is formulated by : 
  (A) Functional managers  (B) Business unit managers  
  (C) Corporate team  (D) Supervisors 
 (6) In how many categories Porter has divided value chain activities ? 
  (A) 2  (B) 3  
  (C) 4  (D) 5 
 (7) Which of the following is a 9-cell matrix ?  
  (A) GE matrix  (B) GS matrix  
  (C) BCG matrix  (D) SPACE matrix 
 (8) Which of the following is not a technique of environmental scanning ? 
  (A) Trend analysis 
  (B) Dynamic modeling 
  (C) Program Evaluation and Review Technique 
  (D) Expert opinion 
 (9) Which of the following is not a dimension of business ? 
  (A) Employees groups  (B) Customer groups  
  (C) Customer functions  (D) Alternative technologies 
 (10) Which of the following statement is not related to the Vision of a company ? 
  (A) It relates to the past. 
  (B) It relates to the future. 
  (C) It is a long term strategy. 
  (D) It is developed by top-level management. 

_____________ 


